15.1. |[El3-2023| Pemmure nepasencrso: 4 ;liff:i— 3327725 L8 >,

ﬁWW : ‘A _ £XQ+QV'S' >O S L/x2+zy,s: 22(x2+zy«5’): éo&
yt*- 334 +8 20

yt* — 234 +§ =0

D= 33% 498 = 1049 -128=9¢f =31°

% - 332+ 12f {,:.,o%,:?[_
f12 £ <,
‘2= =4
— 1t
+ . . >£
1 &
f 2
Xt 2y - -2 ,
t <t 4 ° XTp2y-s& "2
£ ’
%7/g £K2+23( -S 7/25 J(2+2;(,§>/5
x4+ ax-3 <0 s xed
X%ty —-& 20 vy X322
xfr2xX-2=0 X2+ 2x-4=
>(/+S/2:’2 X’,,u}(l )
Xpe X, = 73 K v, = =&
)(//,—3/,\/2:,{ 1= ¢y =
_Jr’__g_/_L////// 4 S v /;t /y - oA/ ;)/\}(
o2 4 —y b}



